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What does he swear — yanwn 1’8?:

OVERVIEW

The X i cited a Xn»72 regarding one who transported a barrel for his friend and it
broke. n"7 maintains that whether the transporter was a 1"¥ or a w"® he swears and
is Mwd. The X3 then cited a Xn>72 which seems to contradict the view of n"9
here.” Initially the X3 brought the interpretation of q1vo& ' (the X111X) to explain
this contradiction.” Later the X 3 brought the explanation of 7"X XaX 72 X»11 I
um’.“ After the Xn3 brought the latter explanation, the X773 asked; ‘what does he
swear’. Moo will explain why this question was only on the latter explanation,
but not on the former.
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Initially the X773 properly understood that he swears that he did not change

from the customary way of transporting -
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However, now that you answered that even if he did not change (he carried the
barrel in the normal manner) he still is a 215 and nevertheless he is 21® from

paying because of the n''pn -
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So therefore even if he changed from the customary manner he will still be =1up
from paying because of that same 1''pn —

mooIn responds to the anticipated difficulty:lo

' The marginal note indicates that this Mmoo is referencing the Xx»3 on x,30. (It would therefore seem that the X0
should be yanwn >>°71 [instead of yanwn *Xn].) See (however) TN *wAon XX # 36-7.

2 From our X3 it seems that »"1 maintains X7 Y219 X9 2pn1 (therefore they can swear), however in the other &n>12
it is apparent that n"1 maintains X7 Y219 2pna.

? X" maintains that these are two contradictory views of "2 (which were reported by different students).

* On x,30 they say that even though »"7 maintains X171 ¥w10 %P3, nevertheless here he is Mo with a 7912w because of
a 0°non nipn; for otherwise no one would be willing to transport items for his friend, lest they be liable.

> This refers to the explanation of X" (footnote # 3) that n"1 in our Xn>12 maintains Y WY Hpni. Therefore he
swears that his tripping was not caused by him doing something out of the ordinary.

® This refers to the explanation of >"1 7R 1"2 "1 (footnote # 4) that »"7 in our ¥n>12 also maintains Y %pn1, but
nevertheless he does not pay, but rather swears on account of the 1"pn.

7" maintains y219 2pn1 (footnote # 4 & 6).

¥ See end of footnote # 4.

? There is therefore no point in him swearing that 73w X, for even if 7w he is still 11 from paying.

10 Perhaps the 11"pn was only if 71w X (that even though Y1 9pn1, nevertheless since he was 7w R he is 71wd);
however if 11w, so there was extreme gross negligence, the 1"pn would not apply and he would be liable. Therefore
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For what difference is there to me whether it was a major 7y or a minor

Ay, Once there is a 1"pn that even though he is a y¥19, nevertheless he is Mw»d; this 1"pn will
apply to all types of ayws.'?
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And the X713 answers; he takes an oath that I did not break it intentionally.

SUMMARY
Once the 2°non make a 73PN that a yw1o 1s MWd from paying, there is no difference
between a 7127 7Y WD and a RV AYWH.

THINKING IT OVER

Why do we not distinguish between 721 mv'wd and Xuw av'ws,'* but we do
distinguish between 7727 7y°wd (where he is ~w9)" and 7°naw TN (where he is
2°m)?
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We will return to you 1I»IN7 IR 9257 279

he should swear that 73w X% and he will be 75 (because of the 1"pn). Moo rejects this argument.

" moown may feel forced to take this position (that Xy [yws % ;n 727 "wws 2 ), for if indeed there is a
difference, why did not the X3 answer that he swears 71w X?w. This proves that the only time he is not exempt
from paying is if he broke it intentionally; however if it was (merely) 71w, he would still be 719 on account of the
n"pn. See ‘Thinking it over’.

"2 The question therefore remains what can he swear?!

" The n"pn does not apply to intentionally breaking the barrel; only if it is broken due to negligence.

' See footnote # 11.

!5 Should we not consider a 727 w5 to be (practically) an 117 278?!

2
TosfosInEnglish.com



